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QUESTION ONE (30 MARKS)

i

(@)

(h)

(c)

(g)

ixplain the meaning of the following termns as used in probability
and statistics: Exhausitive events, Favourable events, Skewness,
Kurtosis (4 mks)
An experiment has only two outcomes. The first has probability
p to occur, the second probability p?. What is p? (3 mks)
State any two advantages of using range as a measure of disper-
S1011. (2
mks)

A batch of 15 test tubes contains 3 test tubes that are defective.
If 2 test tubes are selected at random, what is the probabilty that
at least one of them is not defective? (4 mks)
The mean of marks obtained by 300 candidates in Chemisty is
48. The mean of the top 100 of them was found to be 75 and the
mean of the last 100 was found to be 20. What is the mean of the

remaining 100 candidates? (3 mks)
Suppose a six sided fair die was tossed two times. What is the
probability of getting
. a4 in two occations ; (3 mks)
ii. asum of 4,5 or 6 (3 mks)

If A and B are any two events in S, show that

i. P(AUB)=P(A)+ P(B) - P(ANB) (4 mks)
ii. P{A\B) = P(A) - P(An B) (4 mks)
%



QUESTION FOUR (20 MARKS)

4. (a) State four characteristics of an ideal measure of dispersion (4
mks)

(b) County income statistics for three years are given in the table
below

Year Agriculture Industry Other sectors Total

2015 170 90 80 340
2016 190 120 90 400
2017 200 140 120) 460

From the information, draw

i. a simple bar chart (2 mks)
ii. a component bar chart (3 mks)
iii. a multiple bar chart (3 mks)

(¢) Calculate the eocfficient of skewness and explain what it means
for the [ollowing distribution (8 mks)

Capitalization Number of companies

O = 10 10
T i< 20 17
20 <z < 30 19
30 < <40 27
a4y e b 19
Bl e U 8

¢



QUESTION FIVE (20 MARKS)

5. (a) Study the data below and use it to answer the questions that
follows

| MARIKS 0-10 10-20 20-30 30-40 40-50
No. ‘OF STUDENTS = 3 T 11 6 4
1. Compute Geometric mean (3 mks)
ii. Determine the value of the mode graphically (3 mks)
ii. Construct the more than and less than cummlative frequency
curves (4 mks)
(b) Suppose there are three apparatus A, B and C used to measure
exact volume in a Chemistry laboratory, it is estimated from a
survey done in the laboratory that 20 percent of the students
know how to use apparatus A, 16 percent use B, 14 percent use

C. 8 percent use A and B, 5 percent B and C. 5 percent use A and
C and 2 percent use all the apparatus. What is the probability
that a randomly chosen person

1. does not use any of the apparatus? (2 mks)
ii. does not use C? (2 mks)
iii. uses A but not B? (3 mks)
iv. uses only two of these apparatus? (3 mks)



